DPTID9Y VDM MM X PN N0 TN NITH
- DYNYN ONUNDY MV 3 PNITM MAIND PrND TIUN
2005 ,1"OWN PP NN TV
601 899122 oNnwn 1ODN

AVYNnNH MNo

nnNN T2 N

1N23% MINNID

0NV »ndn Ten M
D°PoN MY N ONYI DDWNN DNOMY NINYD AN .3
J0N Pon Dy P nayd 7YY a9 oY

P01 N 2P0a] DINAD PO TYPR X POn
M0 W MMPONNT 0NV 21 YYD 1 PYn

Y011 W YPpoa 0NN — N POn

mmp 50 — (10x5) 212 2y YO POV MIDKY WDN Ot P93 — NN P9
DWW DD0N VYA MUNY M P93 — v pd

LT02Y 2000 MORY 2Y 1 myh oy

mnp) 50 — (20x2)+(10x1) 21700 IMNI MXNNN 29 by

mMmp1100 — Mo

722173 W PR DNN1YY — 3 Pon
MMPI50 — (10x5) 1212 7Y MYD OV MORY wnn M pioa — ey po
DMWY D000 MW NMORY Mt P93 — w37 po

DINW NIDNI MORY DY P navd oy

mnp) 50 — (20x2)+{(10x1) 200 IMNI MNNNN 2 DY

mMMmpI100 — a1

{TON3 1IN AVNDD YIN) MY TN 5D W3 MDY N )

DD NIRY NINIONN 22 X 1273 DON 19v3a 002 POy (1) mInyn MNNa - T
J172NNN S MNNNN N300 Y o (2)
AN W MDD PO DP9 AmI NN DAY NaYN NN
DYDY N0 Y00 N "2 TIINN Mo :nTade :MHenn NN

ATYTON OWSN ,DYPN0 YN QMDD 3IN07 TR Y A1 DD DY TI0 oYY J223 NPNIn DNanng 1mnd
'MNAN NP0AR ORI 7Y NPNIN ININARY YINDY 0'aT DY Jeh MoTe 0w 00 Tiny 9 e ome oen

JINND £2IN2327 MINAIZ MMM 23T PYHI MNDIN AT PINYA NYMIND

Ianbdyna
/972 M3yn Tvnn/



9 ! o P . Avninn mMmo -2 -

NniYNYN

P°011 N YPDa] 0NNV — N PN

IN27 WAT) NNNY MNINN 22 DN 7273 DNN 19w 22D POy :ah o

NIINHDN DY NNYNN N3N By Dwa
P70 N SP0a amI NNN 1AV NaVWH N
DmIY™M N 90 X '3 NIDNN MM DAY M90Nnh NN

(MmMp150) PPYNRY P9

AMTP2 10 — NoNW 927) 5-1 MoNwn 22 2y my

Y032 I PPUa2 MDD YUPD DNPIMIND DX DN 20200 DMK 790

N N2 290m ,op
.S mnwns 1von vIgp
.TOTAL mnwna NN¥INn N axm N -2 S nx pon

.TOTAL 5w p5vn Twn NN D910

PYOMITY YPDH 1NN NN YOP TIAY
09T NI WM, TIA%Y TPINN YOP NN Y0 NIV DY 1Py

J0YPIY OMTIPN OMNMINKD DY OMIM) DIN 0P Nhwa o3

2209 2o
READLN(A , B); INPUTA.B
C:= A-B C=A-B
WRITELN(ABS (C)); PRINT ABS(C)
READLN(A , B); INPUT A, B
C:= A-B; C=A-B
WRITELN (A , B, C); PRINTA,B,C
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WRITELN (A +B); (i
WRITELN (A); (i)

WRITELN (B);

C:=A+B; (i)

WRITELN (C);
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PRINT A+B

PRINT A
PRINT B

C=A+B
PRINT C
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A:i=6;
Si= A+§;
WRITELN (A, 5):
A:=§;
WRITELN (A);
A= A+E;
WRITELN (A);

frlivibi}
A=6
5=A4+8
PRINT A, S
A=28
PRINT A
A=A+8
PRINT A
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SUM := 0 SUM =0
FORK:= 1 TO 4 DO FORK=1TO 4
IF SUM < 2 THEN IF SUM < 2 THEN
SUM := SUM +1 SUM = SUM +1]
ELSE ELSE

SUM = SUM -1 SUM = SUM -1

WRITELN (SUM); NEXT K
PRINT SUM
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